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Multi-Drug Screen in Blood by LC-MS/MS

Extraction Date:10/25/17 Analyst: Sarah Pickle

Plate lot#:0515207 Plate Expiration:10/18/18

Mobile phase A: 10mM Ammonium Formate Mobile phase B 0.1% Formic acid in MeOH
0.5M Ammonium Hydroxide Ethyl Acetate

Blank Blood Lot: 361331-3 Column: Phenomenex Phenyl Hexyl (4.6x50mm: 2.6 um)

LCMS-QQQ ID:59740
Pre-Analytic:

1 1. Check levels of mobile phases and needle wash refill as needed. Ensure waste is not full.

7} 2. Ensure correct column is installed and begin mobile phase flow allow to equilibrate ~ 30 minutes.
3. Create worklist: C :\0assHunters Doyl 701 F\NDSORLANOTAF P MY St

Analytic:
1. Remove standards, plate, controls, and samples from cold storage. Allow to reach room temperature.
2. Pipette 250uL blood (calibrated pipette) Pipette ID: #3 in wells of analytical (standards) plate.

[ﬁ 3. Place on shaking incubator at ambient temp., 900rpm for 15 minutes. Shaker ID: 067105

4. Pipette 250uL. 0.5M ammonium hydroxide buffer in wells of analytical plate.

ﬁ 5. Place on shaking incubator at ambient temp., 900rpm for 15 minutes.

m 6. Transfer 300uL of blood+base mixture to corresponding wells of SLE+ plate.

M 7. Apply positive pressure for approx. 4 seconds (or until no liquid remains on top of sorbent).

(Load at 85-100 PSI- Selector to the right) Manifold 1D: 067104
Wait 5 minutes
8. Add 900uL ethyl acetate and allow to flow for 5 minutes under gravity.
9. Apply positive pressure for approx. 15 seconds. (10-15 PSI- Selector to the left)
10. Add 900uL ethyl acetate and allow to flow for 5 minutes under gravity.
E( 11. Apply positive pressure for approx. 15 seconds. (10-15 PSI- Selector to the left)
IY( 12. Remove plate containing eluate. Place on SPE Dry and evaporate to dryness at approx. 35°C.
SPE Dry ID 067103
Iﬂ{ 13. Reconstitute in 100pL 100% MeOH and heat seal plate with foil. Place in autosampler and run worklist.
g\

Y et

=N

POST- ANALYTIC
1. Create batch and process data. \OTSTT MND Soredin SR boddn: biv
Worklist path: W23 SPd Soreen  Batch Name ozt ) Sereen P2 SP ko biv
Efl 2. Evaluate samples, S/N of primary transition >5 and S/N of secondary transition >3 or evaluation of peak
symmetry and resolution. Within +/- 2% or 0.1 min RT of administrative control. > 1/5 the response of
g administrative control. TS WK Cvalwad €

3. Did all QCs pass for each analyte? Y AN DNE Cor \'so@pod,o\
4. Central File Packet to include: LIMS Worklist, Method Checklist, Calibration and Control Reports

COMMENTS:



Multidrug Screen External Control Preparation Information

Lot 053117

Drug Lot

Temazepam Cerilliant FE08191401
Quetiapine Cerilliant FNO2021502
Zolpidem Cerilliant FE12181402
Zopiclone Cerilliant FE12031501

Expiration date

October 2019
February 2020

A
February 2020 * N
December 2020 U

100ul of 1mg/mL stock was added for each drug to 9960ul of LC MeOH (BDH Lot 15H250514). 100ul of
the working solution was added to 9900ul of blood {Hemostat Lot 361331-3).

LMISO‘MSF] Creadel | ©9/25 /17 By TS
Expires . ©3/25/18
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